
ADJASBA Seat Frame, Seat Pan and Hardware
TRBKTS Option - Introduced 12/19/05



ADJASBA Seat Frame, Seat Pan and Hardware
TRBKTS Option - Introduced 12/19/05

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

1133597-NLA NLA - Bracket, Back Cane Mounting, Black - Right 1 11
1133598-NLA NLA - Bracket, Back Cane Mounting, Black - Left 1 11
1024793-NLA NLA - Screw, Hex Head (1/4-20 x 1-3/4") 1 42

1008495 Screw, Socket Button Head (1/4-20 x 1-1/2") 1 33
1122652 Screw, Hex Head w/ Patch (5/16-18 x 5/8") 1 104
1025704 Washer, Flat (5/16 x 5/8 x 1/16") 1 105
1122619 Socket, Arm, Front - Right 1 16
1122620 Socket, Arm, Front - Left 1 16

1126127-NLA NLA - Rail, Side (12 - 18" D) 1 27
1121982-NLA NLA - Frame, Center Seat, Black 1 18

1025736 Locknut (1/4-20) 1 79
1026099 Spacer, Coved (1/4 x 11/16 x 1/2") 1 410
1045267 Screw, Hex Head w/ Patch (1/4-20 x 3/4") 1 811
1029501 Plug Button, Black (1") 1 212

1126126-NLA NLA - Crossbar, Seat Frame (12 - 16" W) 1 413
1026907 Washer (1/4 x 1/2 x 1/16") 1 614
1068039 Pin, Pull  1 215
1126142 Socket, Arm, Rear 1 216
1069724 T-Nut (5/16-18) 1 1017

1039949-NLA NLA - Fastener, Hook Adhesive Back (2" W x 16" L) 1 418
1044578-NLA NLA - Fastener, Loop Adhesive Back (2" W x 16" L) 1 418

1126144 Pan, Seat, with Hook and Loop Fasteners (12 - 16"
W x 12 - 18" D)

1 119 A
A - Includes item 18 NOTE:

 


